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[=]

A0
T

Series BVM/C o N1_59 /1 /3

- Q-
Roll No. W 99 g | &

Candidates must write the Code on the
title page of the answer-book.

[=]

o FHNIAE R AfFEIHHAHHGI IS 19 8 |

o UH-UA H TEH BY hl AR I T i T hl B IA-YEIhl o E-I§ T
ford |

e FU AT R AR IATTAH 27TH & |

o THIAT U T I ToT@HAT I[E i | Uged, U9 i shHTeh Tavd fo1d |

e U YH-UA I Ued o I 15 e o1 0 &1 71 8 | WRH-9F ol [aair qdis
4 10.15 &9t fopam SIT@ | 10.15 s F 10.30 S50 dob B shddl -9 il Uil
3R 39 AAY o G o IT-JREqehl W hig 30t A&l forel |

e Please check that this question paper contains 19 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the fitle page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

e Please write down the Serial Number of the question before
attempting 1t.

¢ 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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() @Yt ye7 HErRf & 1 3 Iv7-97 § FT 27 Y97 & | ¥IA-97 qid @Sl H
fasrfaa 8 |1

(i) @US I 4 Y37 &I 1-5 dF 9% Y97 Uk 37F H1 & | JdPb J97 BT I
20 vs3l @ 37fere 787 517 T30 |

(iii)) @US F § Y97 G&IT 6 — 10 TF IcdF 97 3T 3HH! &7 & | I dF 97 HT I
40 vec] @ 3718 &7 517 TR0 |

(iv) @UEH T Y97 G&IT 11 - 16 T JdF I IR 37H] &1 & | IIb JI7 HT I

100 ¥rscl @ 37fere 781 &7 T30 |

(v) EUE T H Y97 GEIT 17 - 21 TF I Y97 Qi 3FH] 7 & | Jcdb J97 HI I
150 Yec] G 37 787 8147 T1i50 |

(vi) GUE T H ¥97 F&IT 21 HHET W YIRT F99 &8 | 38 I GH!
FIR-YledesT H 17160 |

(vii) EUE T § I GEIT 22 — 27 Tb b Y97 B bl H1 & | Jcdb J97 HT TN
150 '3/ec] & 378 757 147 =0 |

General Instructions :

(1) All questions arecompulsory. This question paper has 27 questions in all.
There are five sections in this question paper.

(11)  Section A contains Questions number 1-5 of one mark each. The
answers to these questions should not exceed 20 words each.

(111) Section B contains Questions number 6 - 10 of two marks each. The
answers to these questions should not exceed 40 words each.

(iv) Section C contains Questions number 11- 16 of four marks each. The
answers to these questions should not exceed 100 words each.

(V) Section D contains Questions number 17 — 21 of five marks each. The
answers to these questions should not exceed 150 words each.

(vi) In Section D, Question number 21 is a map-based question. Write its
answer in your answer-book.

(vit) Section E contains Questions number 22 - 27 of six marks each. The
answers to these questions should not exceed 150 words each.
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Lus H
SECTION A

1. YRd < fhdl W TSI H ISl TR-SHIUE Tl hid-Hl TSHITdeh 91ef 3 o418 2 1
AT

AR UG bl foheal @ ToiHITdes 9Tiedi o M fofgu fS9ert S=1 Arerferee
qrel | g3 B | I

Which political party formed the first non-Congress government in any

State of India ?
OR

Name any two political parties in contemporary India which trace their
origins to the Socialist Party.

2.  ‘HAdTEHl AN 1 37 T HIFIT | 1

Explain the meaning of ‘Indigneous people’.

3. Hifayd 99 oy =1 &l Hifead 99 o faged & fou et qm 1 S gehar 8 2
IS Tsh HRUT TARGU | 1

Which leader of Soviet Union can be blamed for the disintegration of
USSR (Soviet Union) ? Write any one reason.

4. TAAARGd § 9 HE-H1 HUT ISR o T4 H Te7d & ? 1
(i) YR TR 7 |
(ii)  IAYSTRITT T YU TcA&h AGHH 3 |
(iii) SO oAl & g gy 3cud &l 2l |
(iv) SRl o ST SYeTehul G371 & |

Which of the following statements about globalisation 1s incorrect ?

(1) Globalisation 1s multidimensional.
(11)  The impact of globalisation 1s highly uneven.

(111) It does not lead to contlict of values.

(1v) Technology has led to globalisation.

P T4
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G ke (]

‘AT el o fohet Teh U1 T GedATeh whiTaT | 1
AT
‘SgdTH WHITA o el Teh TATH ST HedTehd hINIT | 1
Evaluate any one merit of ‘ASEAN Way'.
OR

Evaluate any one merit of ‘Bandwagon Strategy’.

Qus o
SECTION B
6.  HHESAl shl &1 hl HHIAT hl L& H 4k Hg@YUl HHA o TohE] Teh HIU0
EIRCRCEICAIE 1 2
HAAT
U] YER G4 1968 bl 36T I €9 HHH o [oh&l Teh HRUI I
fergeryor i | 2
Analyse any one reason for considering human security more important
than territorial security.
OR
Analyse any one reason for considering NPT of 1968 as an arms control
treaty.
7. Frafafes s 98 faem Hif éx4=2
&7 A’ &7 ‘B’
(a) T g (i) S TehTRT AT
(b) S A — 5 fopa™ ()  TH HAE Alfgan
(c)  EFYUl Shli=d (i) 3f=eq e
(d)  T-HIUEATG (iv) T S8IgL S
Match the following :
Column ‘A’ Column ‘B’
(a)  Garibi Hatao (1) Jai1 Prakash Narayan
(b)  JaiJawan — Jai1 Kisan (11) Ram Manohar Lohia
(c) Total Revolution (111) Indira Gandhi
(d) Non-Congressism (iv) Lal Bahadur Shastri
59/1/3. 4
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8. WA H USHAI o YA A fohd Toh TSI Wehdll ohl Hale[d fohdT ? ¥USE I | 2

HAAT

1950 H TIMT JHIE @S gRT U, 98% o JYH Hi=Hvsd d AN-U ¢4 Sl R0
3SR hITNTT | 2

How did the Reorganisation of States in India strengthen national

unity ? Explain.

OR

Highlight the reason for the resignation of Shyama Prasad Mukherjee
from Pt. Nehru’s first Cabinet in 1950.

9. YA <hl Tgcdi= g=asia JisHT i foheal e fIRwarsti <1 9uiH st | 9
SOE
T Il shl =T ki foheal 2l foRivdrett &1 9uiH Shifsu | 9

Describe any two features of the Second Five Year Plan of India.

OR

Describe any two features of the 1deology of ‘Swatantra Party’.

10. “Q@HS I G0 o 0T @ad & | gfee hiT | 2

“Mineral industries are a threat to the environment.” Justity.

P T4
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11.

12.

13.

14.

59/1/3. 6

Qus 9
SECTION C

g qiyg & AU TRA §ee & ot yEdiiad fhU 7T HHEUE] w1 HeTehH
hITVT | 4

HYAT

CII <Al T[T i il o U @Al hl HTeheld hiToTT | 4

Evaluate the proposed criteria for new permanent members of Security

Council.
OR

Assess the new sources of threat to the security of countries.

gia srifed o g @ 19 3R @ SIS IUH hiTou | 2+492=4

Describe any two merits and two demerits of Green Revolution.

IR oh HTEehideh Io%d I faveivor HifT | 4

Analyse the US Hegemony as soft power.

328N hl TEMAT U 3TTehedd hifail foh URTAT 3T 3ThIshT o 99 Tadd <30 &
e G ! FANAAT AT T AT bl ST Iredt FATal 8 37T off | 4
AT

TI9aTd SETAT <hl UTShAT Rl 3TN <hl AT U AThald <hifold | fohH TR I8

YishaT 2@ 3R qg & 94 o A9 o ®9 H 1 il 8 ? 4

Assess with the help of examples that the security challenges faced by
the newly independent countries of Asia and Africa were different from
the challenges faced 1in Europe.

OR

Assess the process of confidence building with the help of examples. How
does 1t function as a means of avoiding violence and war ?
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15. Hifdad 99 ol fageq &l 3T & I a1 foheal IR hRON Bl U hif9T | 4

Describe any four reasons that led to the disintegration of the Soviet
Union.

16. 3Md Ig & S HERIGAT gRT BIC <M ol 94 ¢ B 41T W& o Tohegl al
TN hl SITET HIfoT | 249=4
SOECI

YR <hi Te-FARuerdr sl il hi ATAEHT o feheal gl UM hl SATEAT iU | 2+2=4

Explain any two reasons for the superpowers to have smaller countries as
their allies during the Cold War.

OR

Explain any two reasons for the criticism of India’s policy of

non-alignment.

TUE g
SECTION D
17. = fou MU T FT MYdH JASEA hifve AR fAfafgd gwb & I

foTlgu

TGl o qLd o1¢ FHR <20 bl U, Tawmod, ol famedi
& oo 3R U=l & qHied I8 icd Haa & SEHT 9ST | 39 3N
Qe % 3T TSR] T IHAM AT foh HRA Tehlshd USE o &9 H
saer At a6 o @ 9mwm | T % qid 91G STH-hvHR
YT 94 3T | 98 9% WRa 3R Iifehea™ o o= G99 ohl A9
T AT | HIHR =TT o AN ohl TSI Tdeh SATHITST o1 AT Hf 399
ST 83T o1 | 3ieh $H! T8 YAk o HS WA H HRA 61 3T §H
T W Eedtd T8 oft | <feror v § oft gfoe stded @ SR 99
THE! 4 Teh G0 3Tl TS <hl 1d ISR off |

() YO YR % W fedl @ &= % 9w fafey S s % W

HAAMEATE] el sl 35T g |
(i)  STFH-hTHR | 319~ % hIg G I A hIFT |

(iii) 9Rd H TP Tehdl bl HSled A o hig gl U AT | 1+2+2=5
59/1/3. 7 P.T.0.
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Read the passage given below carefully and answer the following
questions :
After Independence our nation had to cope with many
difficult issues like partition, displacement, integration of
Princely States and so on. Many observers both within the
country and from outside had predicted that India as one
unified country cannot last long. Soon after independence, the
1ssue of Jammu and Kashmir came up. It was not only a conflict
between India and Pakistan. It was a question of political
aspirations of the people of Kashmir valley. In some parts of the
north-east, there was no consensus about being a part of India.
In the south some groups from the Dravid movement toyed with
the 1dea of a separate country.

(1) Identify any two regions of north-east India where the

secessionist movements emerged after Independence.
(11) = Find out any two reasons for the unrest in Jammu and Kashmir.

() Suggest.any two methods to strengthen the national unity in

India.

18. = U U 7Y & MY JAFH hitwg 3R HAfARGd I o IW
fTRaT

Mg o Uad b §1¢ Jd Hlfodd ¥9 @ TSI Th gdrdral,
TOTSATE] SAIEAT | Alhdl=eh Yoiidial SHaedl deh o hveyq HshHUl H
gIoht o | &, TeT TRET o TSI 3R gl JA9 o <M H YSiiarg ol
3R TshHUT hl Teh QT Higd RN T | fova deh 3T TaUs™ Hal
Y gRI QR 36 Higed 1 Tleh AU (THTT Ig=reht IT=N A1)
gl T | Ydqd GHdl gHAT o <l H ik 9l hl Tid HRX TEAT
ITAT-3TAT Tal Afeh 3Teh! fesm 3T i o<t T a6 Teh I8 ¥ |
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()  HA-E S SRS TEened 3 ayd gEdl g % <o % foTw wiies SR

Rl AT TR 2
(i)  STfep AT A1 fereal @ TaRIgarsTt shi samean shifsu |
(iii) ¥k Ot & hig @ TR Tose hifo | 1+2+42=5

JTera
e fqu U @A 1 SHYdh AR hiC IR FH=fciRgd I & IW

NIECIE

TXTY] g hl LA H ST G&Tl sl 3a4T b 33T 9o foh 390 ¥
fasiar & 8 — I8 q¥ HET N WY B | IR Hig I I W
JTShHUT hich Ich UTHTY] BIYARI el AT i hl I Hdl 8 ad
qEL % UTH 3 991G i AT BUAR o9 @ | 35 ‘I (Ush 3T
HJe) I deb kel AT | GHI &1 Y&l o 9TE Teh-gol o Hehlodd 31
JER JHE Ug= hl Sd1 &HdT il 8 Tob shis Hl 9&1 g shl @A gl
REIBIRCIGNIN

(i) - 9REY] g o A1 &1 B ?
(i) A GG hE SR § GHI AR o si= YU g H TRETdd Ta81 g1 ?
(iii) 319U’ 1 319 Toee hifvw 1+2+42=5

Read the passage given below carefully and answer the following

questions :

The collapse of communism was followed in most of
these countries by a painful process of transition from an
authoritarian socialist system to a democratic capitalist system.
This model of transition in Russia, Central Asia and East
Europe came to be known as ‘shock therapy’. It varied in its
intensity and speed amongst the former second world countries,
but 1ts direction and features were quite similar.

59/1/3 9 PT.0
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(1) Which two international institutions administered shock

therapy in the former second world countries ?
(11) Explain any two features of shock therapy.

(111) Explain any two consequences of shock therapy.

OR

Read the passage given below carefully and answer the following
questions :
In the event of a nuclear war, both sides will be so
badly harmed that it will be impossible to declare one side or
the other as the winner. Even if one of them tries to attack and
disable the nuclear weapons of it rival, the other would still be
left with enough nuclear weapons to inflict unacceptable
destruction. Both sides have the capacity to retaliate against an
attack and to cause so much destruction that neither can afford

to initiate a war.
(1) Whyis-a nuclear war indecisive ?

(11) Whydid the Cold War not transform into a full scale war
involving the superpowers ?

(111) Explain the logic of ‘deterrence’.

19. = fCu U E@u &1 eIMYde EH HiNT FAR HAfIRgd T9A1 ok IW
T
AWME o 9T YA o 9 fashE o gl disad o
IENATE-gSAIdTE! Hised aUT GHISETG Higd | HRd H 3 AN Tdeh™
% ¥H % GHNER] Aled § S8 JHTGd o Tg SR % S
Hied o GHUYH §Ed A U | WA A T8 o 39 31 Al H § T
hl i &1 AU | YA H Al Higel o dwdl bl THAT L IR
T | 39 ShRUT § 36kl THINA ATEAT hal T |
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[m]r

(1)
(1)

(ii1)

TRd H I o fohd Higd shl ST9TT T1R—IT 2

foehrE o 39 Higd hl A=Al o foheal a1 forgatl w1 fageiuom
hITSTT |

oS IUNYA] ¢RI TEdTied il WA ol fI3aAvul shifold |
3reran

1+242=5

e fCu U @ #1 SIHYde JASRF HiY IR FEfdRgd I o 3T
e

(1)
(1)

(ii1)

1960 % Teh W HiW hl ;T &g ¥ S Bl T5 | 1940 3R

1950 % @9 H & WA % 3T ol gig g, SHEEAT ! gig o
H SIE-dY 3194 sl ST @ 15 oAt | 19659 1967 < i< <X o 3Teh
feeal o g ver | sHi ety § 9a 3 € gl o @A fondr R 3H
foresll gg1 o Tehe ol Hl AT 98T | 31 A1 &1dl o hRUT WITH <hl
I il Bl 71831 < b 3% W § 3Thlal wiet feufq 319 et |
W b h8 ST T WTITE o Hehe 1 TeH 3T(eeh THTE g3 ?
1960 = @31 U WRd H Wrad e (g HHT) o Tohral &l ST
% faseien FifT |
1960 ek H 3Ic9d §U WA Hhe b fohral &l YNUHI I
fargeiyur i |

1+242=5

Read the passage given below carefully and answer the following

questions :

FOANTICAE RCIRRIC PO AT AL ROFKCPPGANTE AL SCIFRCE
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On the eve of Independence, India had before 1it, two
models of development : the liberal-capitalist model and the
socialist model. There were many in India then who were
deeply impressed by the Soviet model of development. There
were very few supporters of the American style of capitalist
development. India did not follow any of the two known paths
to development. Elements from both these models were taken
and mixed together in India. That is why i1t was described as

mixed economy.
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(1) What model of development was adopted 1n India ?

(11) Analyse any two points of criticism against this model of

development.

(111) Analyse the ‘Bombay Plan’ as proposed by big industrialists.

OR

Read the passage given below carefully and answer the following
questions :
The agricultural situation went from bad to worse in the
1960s. Already, the rate of growth of food grain production in
the 1940s and 1950s was barely staying above the rate of
population growth. Between 1965 - 1967 severe droughts
occurred in many parts of the country. This was also a period
when the country faced two wars and foreign exchange crisis.
All this resulted in severe food shortage and famine-like

conditions In many parts of the country.

(1) Which State of India was worst atfected by the food crisis ?

(11) Analyse any two reasons for the acute shortage of food in

India in 1960s.

(mm) Highlight any two consequences of the food crisis in 1960s.

59/1/3 12
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20. & feU U HEd H AHYHD ALRH HitGT qoT FA=HIRGd I & IW
et

IS FE R e
g UL ohl dATe 9§

..q g < |

(1)
(i)  Tordl fHceliett (T8e=aH) TLhR o fohral gl qINl ol TIE hifuT |
(iii) + B hlgd H A T@ T3l shl ISR T | 1+2+2=5
Study the cartoon given below carefully and answer the following
questions.:
THEY SAID

THEY'LL SUPORT

THE GOVERNMENT

FROM OUTSIDE!
(1) Name the Prime Minister shown 1n this cartoon.

(11)  Explain any two demerits of any coalition government.

() Highlight the message conveyed by this cartoon.

59/1/3 13 PT.0
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FIZ :  HEIIET 399 Fact GIRETEad GALTdat & 178, Y97 &7 20 & T W E

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 20 :

(20.1) HRd H YgAl TEE-EH ohl TEhR & U Tt shl 91 [ARgU |
(20.2)  TEEEH AYAT THEATS[CI! TLhR Sl 1Y TISE HITT |

(20.3)  TEEYH ThHR o hig & N IATR shifad | 1+2+2=5

(20.1) Name the Prime Minister of the first coalition government in
India.

(20.2) Explain the meaning of coalition government.

(20.3) Highlight any two demerits of coalition government.

21. U % fqu U usHifde W@iAEtE (98816 W), H Ul ¢Sl
@), ®, ©, D qe (B) g <uiEn T8 | A= & TS AR & STER W3

CSTl h! UgdM <hifse 3 {1 IAL-Yfedehl H Seh &l =M™, TAN i g
SR <hl shH T&AT dAT Tral-ad 18R, A= &I 78 dIfeiehl o ®9 H TIRgU

qﬁﬂﬂﬁnﬁnmfl graf-erd 378 | < T A
ShH FET

(1)

(11)

(111)
(1v)
(v)

(i) 39 &7 o1 Ush <1 Sl UTfeh&dTd hT W T |

(i)  STYT TTIGEAT Sl IR §H ATAT 39 &1 o1 I9H < |

(ili) Ueh < Sl HaHTHeh Tefad o |

(iv) U <3 Torad Sl SAehdii-=ieh 31T 8= 98 @1 2 |

(v) Ueh & Sl 9Teh 1 He&d 81 @ | 1x5=5

59/1/3 14
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In the given political outline map of Asia (on page 16), five

countries have been marked as (), B), (©), (D) and (E). Identify them on

the basis of the information given below and write their correct names in

your answer-book with the respective serial number of the information

used and the concerned alphabet as per the following format :

Sr. no.

of the

information used

Concerned
Alphabet

Name of the
Country

(1)

(1)

(iii)

(1v)

(v)

(1) A country of the region which was a part of Pakistan.

(11)  The first country in the region to liberalise the economy.

(1m1) A country which had been a constitutional monarchy.

(1v) A country that experienced both civilian and military rule.

(v) A country which 1s not a member of SAARC.

FOANTICAE RCIRRIC PO AT AL ROFKCPPGANTE AL SCIFRCE
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[Blir
g3 9. 21 % 17T For question no. 21

TIVRT — USHITdSh Asia - Political

Kms. 500 1000 1500 Kms.

—
—_ . . = =
Fig:  HERIRGd 9 @acl GIRETST GHATaar & 1c7g, 397 &gl 21 & EH T

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 21 :

(21.1)  cferor ufden @ fRet weh w1 @1 AW fafgu i@ gFi, Alehdiiie 31
= E @1 3 |

(21.2) Uk UH TRET <% I AM foifay St 3Adid | fa=g Tsg o |
(21.3) 39 <3 H1 91 ARG ST ITfehEd™ T 9T AT |

(21.4)  ®Th < fopral TR He&g a9 o 9™ fafgn | 1+1+1+2=5

collegedunia:
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(21.1) Name any one country of South Asia, that has experienced both
civilian and military rule.

(21.2) Name an Asian country which was a Hindu Kingdom in the
past.

(21.3) Name the country which had been a part of Pakistan.

(21.4) Name any four member countries of SAARC.

Qus g
SECTION E
22. ‘gL H YA b Tehegl iH aLIshl kI Tagetyur iy | 2x3=6
HUAT
1970 o Mg T4 GRI U1 TYITEAT &l U o Toiu 33T T feheg] A
hHI_ bl f¥eINUl ShITT | 2X3=6
Analyse any three methods to overcome ‘hegemony’.
OR

Analyse any three steps taken by China to reform its economy after 1970.

23. 1969 T HIIG Ul &l u=iieh [a9SH i 3T & I a1t feheal b I9@ Hel

ol TqSE hHifY | I%3=6
3T

1975 H 3{UTdhId <hl TN o fau Iawer fohel a9 run <hl <t

W | 2%3=06

Explain any three major issues that led to the formal split of the
Congress Party in 1969.

OR

Explain any three reasons that led to the declaration of Emergency in

1975.
59/1/3 17 P.T.0
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24, “SH ATCIAHl 4 Alhd—= H ITAIEAT Bl & ST 3Hh [G&AR H INTe fe

2 |7 dehl hl HERET ¥ YA 6 gfee Hifse | 6
COC)

“aTd o Tafe= &1 o AT g AHEI™h ol T3 & TR fofy=ar I Wehd

Bl 3BT & | ohl shl HEAT H YA hl Ifed T | 6

“The popular movements have contributed to the expansion of democracy
rather than causing disruption.” Support the statement with arguments.

OR

“Regional aspirations expressed by people of different parts of India is an
example of Unity in Diversity.” Support the statement with arguments.

25. OYHIRUT & HRU A¥ GRI HHd TohU TW fhegdl o9 dRaddi &l ISR
hITSTT | 2x3=6

SPEl
qY[e0] ol YGHYL H S s hig diF allsh gATsY | 2x3=6

Highlight any three changes experienced by you due to globalisation.

OR

Suggest any three methods to protect the environment from pollution.

26. A 31K 9 % o= faag & fral IR qei 1 avia i | Iéx4=6
SOC)
YT 3R ITiehed™ o sfia faarg o Teheal =X el sl aUMH hilofT | Iéx4=6

Describe any four points of conflict between India and China.

OR

Describe any four points of conflict between India and Pakistan.
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27. 1971 H 3N 3IHeh UTHAT iU el i AR & o ITgrft fhedi =

HTEh! T U T | Iéx4=6
teraT
1975 H U STITdhTe ] A o Feheal TR SHIOT ol Ui HIfT | Iéx4=6

Describe any four factors responsible for the popularity of Indira Gandhi
in and after 1971.

OR

Describe any four reasons for the imposition of National Emergency in
1975.
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